Changes to legislation: There are currently no known outstanding effects for the Social Security Contributions (Transfer of Functions, etc.) Act 1999, SCHEDULE 10. (See end of Document for details)

$S\,C\,H\,E\,D\,U\,L\,E\,S$

SCHEDULE 10

Section 26(3).

REPEALS AND REVOCATIONS

Extent Information

E1 Sch. 10 extends to Northern Ireland so far as it relates to any enactment which extends to Northern Ireland

PART I

REPEALS

Commencement Information

I1 Sch. 10 partly in force; Sch. 10 not in force at Royal Assent see s. 28(3); Sch. 10 in force for certain purposes at 1.4.1999 by S.I. 1999/527, art. 2(b), Sch. 2; Sch. 10 in force for certain purposes at 6.4.1999 by S.I. 1999/527, art. 2(c), Sch. 3; Sch. 10 in force for certain purposes at 5.7.1999 by S.I. 1999/1662, art. 2(b), Sch. Pt. II (with saving in art. 4)

Chapter	Short title	Extent of repeal
1988 c. 1.	The Income and Corporation Taxes Act 1988.	Section 649(4)(a) and (b).
1992 c. 4.	The Social Security Contributions and Benefits Act 1992.	In section 1(4)(b), the words from "where under that section" to the end.
		Section 16(4).
		In section 17, in subsection (1), the words from "and may certify" to the end, in subsection (4), the words "the Secretary of State and" and subsection (6).
		In Schedule 1, paragraphs 6(8) and 7(7), in paragraph 7B, in sub-paragraph (2) (e), the words "subject to sub-paragraph (4) below,", sub-paragraph (4), in sub-paragraph (5)(b), the words "subject to sub-

		paragraph (6) below," and sub-paragraph (6) and paragraph 7C.
		In Schedule 2, paragraph 6(2).
1992 c. 5.	The Social Security Administration Act 1992.	In section 110, subsections (2)(c)(i) and (ii), (6)(a)(i) and (ii) and (7)(e)(i).
		Section 114A.
		In section 118, subsections (1A) and (2) and, in subsection (3), the words "as is mentioned in subsection (1) or (2) above".
		In section 121D(6), the definitions of "appeal tribunal" and "revise".
		In section 122(2)(b), the word "contributions".
		Section 122A.
		In section 122B(2)(b), the word "contributions".
		Section 123(7)(a).
		In section 161, in subsection (3), the words from ", in accordance" to "by the Treasury,".
		Section 162(11).
		In Schedule 4, in Part I, the entry "A member or officer of the Commissioners of Inland Revenue" and, in Part II, paragraph 4.
		In Schedule 7, paragraph 5.
1992 c. 7.	The Social Security Contributions and Benefits (Northern Ireland) Act 1992.	In Schedule 2, paragraph 6(2).
1993 c. 3.	The Social Security Act 1993.	Section 2(6) and (7).
1993 c. 48.	The Pension Schemes Act 1993.	Section 167(3).
1995 c. 18.	The Jobseekers Act 1995.	In section 27(8), at the end of the definition of

Changes to legislation: There are currently no known outstanding effects for the Social Security Contributions (Transfer of Functions, etc.) Act 1999, SCHEDULE 10. (See end of Document for details)

1995 c. 26.The Pensions Act 1995.In Schedule 5, in paragraph 21, all the entries in the Table except that relating to section 163 of the Pension Schemes Act 1993, and paragraph 22.1997 c. 16.The Finance Act 1997.In section 110(5)(a), the words "social security contributions".1998 c. 14.The Social Security Act 1998.In section 110(5)(a), the words "social security contributions".1998 c. 14.The Social Security Act 1998.In section 110(5)(a), the words "adt" immediately preceding it. Section 10(4).In section 10(4).In section 10(4), paragraph (c) and the word "or" immediately preceding it. Section 10(4).In section 14, subsection (2), in subsection (6) the word "(2),".Section 14(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay".Section 58. Section 114A of the Social Security Administration Act 1992.Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29.In Schedule 7, paragraphs 10 to 15, and 18, j. 130, 132 and 148.			"deductions", the word "and".
 words "social security contributions". 1998 c. 14. The Social Security Act 1998. In section 8(1), paragraph (d) and the word "and" immediately preceding it. Section 10(4). In section 12(1), paragraph (c) and the word "or" immediately preceding it. In section 14, subsection (2), in subsection (3) the words "In any other case" and in subsection (3) the words "In any other case" and in subsection (6) the word "(2),". Section 16(4) and (5). Section 18(1)(a)(iii) and (iv). In section 18(1)(a)(iii) and (iv). In section 19(1) and 20(1), the words "or to statutory site pay or statutory maternity pay". Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and 	1995 c. 26.	The Pensions Act 1995.	21, all the entries in the Table except that relating to section 163 of the Pension Schemes Act 1993, and
 and the word "and" immediately preceding it. Section 10(4). In section 12(1), paragraph (c) and the word "or" immediately preceding it. In section 14, subsection (2), in subsection (3) the words "In any other case" and in subsection (6) the word "(2),". Section 16(4) and (5). Section 18(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 58. Section 59(6). Section 59(6). Section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and 	1997 c. 16.	The Finance Act 1997.	words "social security
In section 12(1), paragraph (c) and the word "or" immediately preceding it. In section 14, subsection (2), in subsection (3) the words "In any other case" and in subsection (6) the word "(2),". Section 16(4) and (5). Section 18(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 11(4). Section 58. Section 59(6). Section 59(6). Section 59(6). Section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and	1998 c. 14.	÷	and the word "and"
paragraph (c) and the word "or" immediately preceding it. In section 14, subsection (2), in subsection (3) the words "In any other case" and in subsection (6) the word "(2),". Section 16(4) and (5). Section 18(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 21(4). Section 58. Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 10(4).
 in subsection (3) the words "In any other case" and in subsection (6) the word "(2),". Section 16(4) and (5). Section 18(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 21(4). Section 58. Section 59(6). Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and 			paragraph (c) and the word "or" immediately preceding
Section 18(1)(a)(iii) and (iv). In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 21(4). Section 58. Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			in subsection (3) the words "In any other case" and in subsection (6) the word
In sections 19(1) and 20(1), the words "or to statutory sick pay or statutory maternity pay". Section 21(4). Section 58. Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 16(4) and (5).
20(1), the words "or to statutory sick pay or statutory maternity pay". Section 21(4). Section 58. Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 18(1)(a)(iii) and (iv).
Section 58. Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			20(1), the words "or to statutory sick pay or statutory
Section 59(6). Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 21(4).
Section 61, so far as relating to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 58.
to section 114A of the Social Security Administration Act 1992. Section 62(2) and (4). In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 59(6).
In Schedule 3, paragraphs 10 to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			to section 114A of the Social Security Administration Act
to 15 and 18 to 29. In Schedule 7, paragraphs 77(10) and (13), 130, 132 and			Section 62(2) and (4).
77(10) and (13), 130, 132 and			
			77(10) and (13), 130, 132 and

PART II

REVOCATIONS

 Commencement Information I2 Sch. 10 partly in force; Sch. 10 not in force at Royal Assent see s. 28(3); Sch. 10 in force for certa purposes at 1.4.1999 by S.I. 1999/527, art. 2(b), Sch. 2; Sch. 10 in force for certain purposes at 6.4.19 by S.I. 1999/527, art. 2(c), Sch. 3; Sch. 10 in force for certain purposes at 5.7.1999 by S.I. 1999/16 art. 2(b), Sch. Pt. II (with saving in art. 4) 				
Number	Title	Extent of revocation		
S.I. 1988/1012.	The Personal Pension Schemes (Minimum Contributions under the Social Security Act 1986) Regulations 1988.	Regulations 3 to 5.		
S.I. 1996/195.	The Employer's Contributions Re- imbursement Regulations 1996.	Regulation 1(4).		

Changes to legislation:

There are currently no known outstanding effects for the Social Security Contributions (Transfer of Functions, etc.) Act 1999, SCHEDULE 10.